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The Apaca between Hia conducinrs ‘o Ailled withh 5
a. diedsedvic o} dieseltic comstondt €,= 2x16™" Faradi/m.
befwesn r=a= (7M™, and T=b 3 2x157 M, avdl Wit Jdiclechric comatast
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copacikaner i Hi Lowgty of s capaciter w L= 0.2w . (Neglack
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anasls W Feumd, s@_ __@,’0\. ond €. .
Probtowe 4 (20 peintS) Given o cumend domalty J=(5 1 ceswr)a,
Awpeun/ maked, what w fa totad chage QU e Ha cubra
DLH L Yo madew, 0L Y {4 ke ) OCBLY wmaken | 1§ Hs otad
Lkwhhmuwdt=5?
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Prohl.aw. 3

(40 p‘mk.{) As Shown ) a pedenily conducting
gliding lbax in glectal wndact With wives m tha

Ty
. o perhecty conduching
wire

positive y —axis aud the- gosihive Yoaks
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Har L) = Sﬁ.t waten. Thare i a e Lo \4s® ngﬁ%
s Soem ma.imd!c. é.e,l.d B=2 ag Webers /mz, wire
At Hha wstaud Huakr L) 74 maben Ha 2vtemmad forts ovaked o
Yz hao o '?qu-p ot Maving ak u=5wm. /s, u F=5 Newkons,

() What & Ha wagnatie Jn B () Hasughe Ha i ax
n.q%qw-lhowm \o‘a—-ﬁ-t.a.‘na.y ool Tla % andh 4 anes ?

(b) Whak .t \ro\-’m%\ aeAnss e edistor ok Y LHS‘{'M’T%
ime whiw LY =1 moked 7

(¢) Whak o Mo comand whow L= L waken?
(2) WhaX W do astistamer o) o aauistor 7
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